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(9+8)hs=6
Circe

1.f8=B R:f8(+wBc1)
2.g:h8=B R:h8
3.d8=B R:d8
4.e:d8=B[+bRh8] R:d8
5.h8=B R:h8
6.b8=B+ R:b8=
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18548 Die Schwalbe
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Manfred Rittirsch
zum 60. Geburtstag
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(10+10)hs=5
Circe

1.h8B Qh7
2.g8S Q:h8 [+wBc1]
3.h7 Q:g8 [+wSb1]
4.h8R Q:h8 [+wRa1]
5.f8Q+ Q:f8 [+wQd1]=
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Die Schwalbe,

JT Franz Pachl 70 II/2021
1.comm
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(7+9+2)hs#4
neutral pawn c6 Alfil g2 =2:2
Springer
Hase a2 =2:4 Springer
Anti Circe
b) wPf5->f6

a) 1. h2-h4 Rd5-d7
2. nPc6*d7[nPd7->d2] nPd2-d1=nAL
3. nALd1-f3 nPg4*f3[nPf3->f7]
4. nPf7-f8=n24 + n24f8*h4[n24h4->h1] #

b) 1. h2-h3 Rd5-f5
2. nPg4*f5[nPf5->f2] nPf2-f1=n24
3. n24f1-d5 nPc6*d5[nPd5->d7]
4. nPd7-d8=nAL + nALd8*f6[nALf6->f1 #
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1783 Gaudium 2019

2. ehrende Erwähnung
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(7+7)#2

all pawns upside are Berolina

1. Rf7-f2 ? [2. Be7-f6 #]
but
1. . . . BPe4-f3 !
1. Rf7-f3 ! threat: 2. Be7-f6 #
1. . . . BPd7-f5 2. Qd3*e4 #
1. . . . BPd7-e6 2. Sg5-f7 #
1. . . . BPd7-b5 2. Qd3-d5 #
1. . . . BPd7-c6 2. Qd3-c3 #
1. . . . BPd7*d6 2. Qd3*d6 #
1. . . . Qa5-d5 2. Qd3*d5 #
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Hubert Gockel zum

60. Geburtstag
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(9+6+1)hs#4
Circe
neutral pawn a2
b) wPh2->h3

a) 1. Kg2-h3 nPa2*b1=nB[+wRh1]
2. Rh1*b1[+nBc8] h6-h5
3. Rb1-b6 h5-h4
4. Se7-d5 + Kc7*c8[+nBf1] #

b) 1. Kg2-f3 nPa2-a1=nS
2. Rb1*a1[+nSb8] h6*g5[+wPg2]
3. Ra1-a6 g5*f4[+wPf2]
4. Ba7-b6 + Kc7*b8[+nSg1] #
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(5+7+1)hs#2.5
Circe
neutral pawn c7
b) bPf6->g6

a)1...Bh2
2.c8=nR Bh2-g1
3.fxe6[+bPe7]+ Kxc8[+nRh1]

b) 1...Be5
2.cxd8=nB[+bRh8] Bb2
3.Bxe6[+bPe7]+ Kxd8[+nBc1]
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